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Education must focus on the trunk of the tree of

g o8 ® A = 7 A

knowledge, / revealing the ways / in which the branches,

=] Al
= c

twigs, and leaves all emerge / from a common core.

WF2 XA LIR E7|0f ZFS SHFOF &L, / AAIS HEIHA /LR

7HX, ZIHR], 10| 25 S| MM L=,

originate
Tools for thinking stgem from thls core / providing a

Z2E9 ol of Al =] =

common language / with which practltlone?s in different
3 g8t

fields / may share their experience of the process of
innovation / and discover links between their creative

activities.

W2 LERIHX], TIHK], 20| 25 82
A

stem from(~25E{ 7|2I5}C}) = have its origins in, arise from,
originate in[from], spring from, derive from, come from, result

from, be attributed to , flow from

2 A 2 = rt

=3

When the same terms are employed / across the
curriculum, / students begin to link different subjects and

classes.

of2ff 2F0l|lM Sl XS ot x| Bizt
2 MRAL.2
Education must focusonthe __ of
the tree of knowledge, reveal the ways
in which the branches, twigs, and
leaves all emerge from a common

. Tools for thinking stem from
this core, providing a common
language with which practitioners in
different fieldsmay ___ their
experience of the process of innovation
and discover ______ between their
creative activities. When the same
terms are employed across the
curriculum, students begin to link

subjects and classes.

1 @ necessity of using a common language to integrate the curriculum

2trunk / revealing / core / share / links / different
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If they practice asttracfi)ng in writing class, / if they work
on abstracting in painting or drawing class, / and if, in all

cases, / they call it abstracting, / they begin to

st 2 o

understand how to think / beyond d/SC/QI/nary
4 A

boundaries.

M| YoM FHE AGSID

oooR
They see how to transform their thoughts / from one

mode of conception and expression / to another.

S9| dztS aHr = Y-S A Elot/ stute| JHEah 23 &

TIPSl

Linking the dlscmllnes comes naturally / when the terms

2 H x{ 9l
and tools are presented / as part of a universal
¥ 4 o

imagination.
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= The act of connecting various fields becomes effortless
when their terminologies and instruments are introduced as

elements of a shared creative vision.

" beyond / transform / Linking / universal

ofzff 20N Sl X2 30} 1x|n {IZt
2 A
If they practice abstracting in writing
class, if they work on abstracting in
painting or drawing class, and if, in all
cases, they call it abstracting, they
begin to understand how to think
disciplinary boundaries.
They see how to their
thoughts from one mode of conception
and expression to another.
the disciplines comes naturally when
the terms and tools are presented as

part of a imagination.
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It’s hard to pay more / for the speedy but highly skilled

person, / simply because there’s less effort being
observed.
2200 / WEX2E D=2 SEE ARZHA, /

1 0|RE Hed| 2EEE =30| X7| WiZ0|ct.

HHEX[PF DE2 SPE AlZA O e E

2 X2371= o226, 2

olf= sl

BEE|= 20| 7| ij20|Ct = Ho[ A

= It's challenging to pay extra for someone who is fast and

highly skilled, purely because their effort isn't as visibly
noticeable.

TEIO| AFHSOf|A| Ellofe S0 HotE X

Two researchers once did a study / in which they asked
people / how much they would pay for data recovery.
T Yo A RI0| A7 E B HO| AUCH/ AFRIS0AH 2= /H0IE 57

of €orE XE2g AUX|E.

They found / that people would pay a little more / for a

= 2 =
greater guantitz of rescued data, / but what they were

sensible (X

most sensmve to / was the number of hours the

technician worked.

QS2 WAYK|S/ ARS0| 22 0 B E

LS

mjo

X=2g Aol2ts AS/
&l HIO|Efol| THH, / AFRtS0] 7+ RIFSHA 0171= A

2/ 7|17t &8t AIZHoIACt.

1 ® value effort over outcome

2 more / less / being observed / in which / more / sensitive / number

3

It’s hard to pay less for the speedy but
highly skilled person, simply because
there’s more effort . Two
researchers once did a study which
they asked people how much they
would pay for data recovery. They
found that people would pay a little
for a greater quantity of

rescued data, but what they were most

towasthe __ of

hours the technician worked.
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When the data recovery took only a few minutes, /
X2 of Ab

willingness fo pay was low, / but when it took more than

a week / to recover the same amount of data, / people

were willing to pay much more.

CIOJE =0l 3 280l Z2IX| AS W, / X2 SAF HUAR| 2, /Y

9 0l40] ZES 1/ 22 Yol HO[EIS BR3te o,/ B o B2

S

Think about it: / They were willing to pay more / for the
slower service with the same outcome.
Mztsfl Het /252 o 2 H|8

obof| oS O =21 MH[201|.

g 7|7Ho| X|gstax} 3Hct/ e 4
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Fundamentally, / when we value effort over outcome, /

=5 =

we’re paying for mcompetence

a=xoz /9ot AuEr =2

SN W,/ 22 B

ook
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Zo|ct. HIF a7i0| A2 H|g2|Zo|X|
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= Essentially, when we prioritize effort above results, we are
rewarding inefficiency.

Although it is actually irrational, / we feel more rational, /
and more comfortable, / paying for incompetence. [3H]
H|E 30| A™|2= HIg2[=0|X[2t, /  0|M4Fo0|1, /¢ HalCtn =

Zct, / REl= FSE0l| XIS5HHA.

= Despite its irrationality, we feel more logical and at ease
o 2 4 B
when we compensate for ineptitude.

When the data recovery took only a
few minutes, willingness to pay was

, but when it took more than a
week to recover the same amount of
data, people were willing to pay much
more. Think about it: They were willing
to pay more for the service
with the same outcome.
Fundamentally, when we value
over outcome, we’re paying for
incompetence. Although it is
actually , we feel more
rational, and more comfortable, paying

for

1 low / slower / effort / incompetence / irrational / rational / incompetence
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b ] CHEE ALLLOllA|

Many people look for séfefy and sécurfty / in popular
thinking.
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They figure / that if a lot of people are doing

something, / then it must be right. / It must be a good

idea.

|
mn
rjo
=

\J
o
n
~

a
©
&2
rio
Rl
g
S
40
re
N
U
_O'l_l
]
o)
n
g
~~
|
o
rlo
muim
o

If most people accept it, / then it probably represents /

=2 s et ] s e = s Al o| 2t Ao

fairness, equality, cc;mpassian, and sénsci’tivity, / right? /

Not necessarily.

Popular thinking said / the earth was the center of the

universe, / yet Copernicus studied the stars and planets /
+ 8% ¥ o =
and proved mathematically / that the earth and the other
F¢8 =d

planets in our solar system revolved around the sun.
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still, nonetheless, nevertheless, yet, however, even so, quite

the contrary, all the same: J2{L}, J™H0| = E55t1

Many people look for safety and
security in thinking. They
figure that if a lot of people are doing
something, then it mustbe____ . It
must be a good idea. If most people
accept it, then it probably represents
fairness, equality, compassion, and
sensitivity, right? Not

Popular thinking said the earth was the
center of the universe, _____
Copernicus studied the stars and
planets and proved mathematically that

the earth and the other planets in our

solar system revolved around the sun.

1 ® there is a huge difference between acceptance and intelligence

2 popular / right / necessarily / yet
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revailin
pPopulagr thinking said / surgery didn’t require clean

however

mstruments / yet Joseph Lister studled the high death

rates in hospitals / and introduced antiseptic practices /

= Al
that immediately saved lives.
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11,/ Joseph Lister=

b

IHRHC} 1 ZA| HEE F5h=.

Popular thinking said / that women shouldn’t have the

right fo vote, / yet people /ike Emmeline Pankhurst and
M

Susan B. Anthony / fought for and won that right.

HEAQl At = Z3X|TH/ 0{4 50| EEAES 7P o ElCta, /
Emmeline Pankhurst®t Susan B. Anthony Z2 AIRZIE2 / 1 #2|

£ sl Mzl HF

= distinction

We must always remember / there is a huge difference /

between acceptance and intelligence.
22|= gt 7|dsljof STt/ 2 x10[7t QICH= W2 / 81t K| Afo]

ofl.
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= It is important to recognize that there exists a significant

distinction between acceptance and intelligence.

People may say / that there’s safety in numbers, / but
that’s not always true.
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BEEH : not + T|( all,both, every, always, completely,
absolutely, necessarily, entirely, altogether, quite..): X2

=Although it is commonly believed that being in a group

provides security, this statement_is not universally accurate.

ofzff 20N Sl X2 30} X0 {IZt
2 A2,

Popular thinking said surgery didn’t
require clean instruments, ___
Joseph Lister studied the high death
rates in hospitals and introduced
antiseptic practices that immediately
saved lives. thinking said that
women shouldn’t have the right to vote,
yet people like Emmeline Pankhurst
and Susan B. Anthony fought for and
won that right. We must always
remember there is a huge difference

between and

People may say that there’s in

numbers, but that’s not always true.

1 yet / Popular / acceptance / intelligence / safety
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The funaa ental nature of the experimental method / is
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manipulation and control.
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Scientists manlpulate a variable of interest, / and see

that (X)

if there

s a difference.
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At the same time, / they attempt to control for the
" oH ol o 3t i} ol =

Dotent/al effects / of all other variables.

SAloll, / FMA dekS SHGH D A|=BITt / THE 2E Helo|.

s A = N 4 8 o
The |mportance of controlled experiments / in id ntifying
= " o o o M TaC

the underlwng causes of events / cannot be overstated.

SHE el Sed2 /el 2EHl fels AEst= o U0f /ot

F2| Zz3l = X|LER|X| BTt
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(®) In the real-uncontrolled-world, / variables are often

Ab
S

bEHA 7 ol

correlated.

o] SHIIX| k2 A, / HRISE2 T A7 L.

L 1—

(®@) For example, / people who take vitamin
H| Bt @I 25

supplements / may have different eating and exercise

habits / than people who don't take vitamins.

OlE 501, / HIEIRI SRS HFoh= AIRE2 /THE ASH 25 &
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X| P4t B &lo| SHI|X| 52 MAfA,

S2 BT AL AL o€ S0, H]
Et2l ESHIE d3l5ts MES2 HIEIS

ofzf E&oiM Sl XS 3o} ax|1 HIZk
2 MAL.2
The fundamental nature of the
experimental method is and
. Scientists manipulate a
variable of interest, and see that
there'’s a . At the same time,
they attempt to control for the potential
effects of all other variables. The
importance of experiments in
identifying the underlying causes of
events cannot be overstated. In the
real world, variables are
often . For example, people
who take vitamin supplements may
have eating and exercise

habits than people who don’t take

vitamins.

2 manipulation / control / if / difference / controlled / uncontrolled / correlated / different
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(®) As aresult, / if we want to study the health effects
of vitamins, / we can’t merely observe the real world, /
since any of these factors (the vitamins, diet, or

exercise) / may affect health.

7 2t/ 2tef 2|7t HIELRIS| | DIX|E 22E TSt AT,

[ RE|E TR Y MATE 2HEe o~ QU= / HLFSHH Of2{8h 4 (H|

EfEl, Al 25) 3 0 Z0IS / 2120l @& 01A 2 47| G2olct,
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therefore = consequently, so, as a result, hence, thus,
accordingly, for that[this] reason, that’s why, as a consequence,

in turn

O Z4, gref 227t H|Etale] ZiZhof O]x|

L 22 Gi75D A, 2l B &
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Rather, we have to create a situation / that doesn'’t

actually occur in the real world.

95|21, L2l AES BHS0{0} BiTH/ B4

MAOIM A= LO{LEX]|

ot

LS

i

(@) That’s just what scientific experiments do.

70| HtZ 2tet &30| sk Ot

=0

oMoz % M 3 &

= isolate
(®) They try to separate / the naturally occurring
= 5t

relationship in the world / by maleuIatlng one specific

variable at a time, / while holding everything else

constant.
JAS2 2ot o2/ Mol Koz rdsh= HAE /

ZAIS04, / 1 8fe| CHE 2E AS LFsHA

As a result, if we want to study the
health effects of vitamins, we can’t
merely the real world,
since any of these factors (the
vitamins, diet, or exercise) may affect
health. Rather, we have to create a

situation that doesn’t actually

in the real world. That'’s just what

scientific experiments do. They try to
the naturally occurring

relationship in the world by

one specific variable at a time, while

holding everything else constant.

= They attempt to isolate the naturally present connections in

the world by manipulating a single variable at a time, while

keeping all other factors steady.

1 observe / occur / separate / manipulating
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Why do people in the Mediterranean live longer / and

I3 Al =

have a lower mmdence of disease?

of XIZ5 K|oje] ARSS O Q2 AT/ T 20| O W7

Some people say / it’s because of what they eat.

FHO| AfRIS2 Eetrt/ 1210| 250| M= A wiF0l2ta,

JH

2

Their diet is full / of fresh fruits, fish, vegetables, wh le
grains, and nuts.
=9 Alth2 7ISSICH/ st ot MM Ja, SS5, ANRE.
Individuals in these cultures drink red wine and / use
great amounts of olive oil.

Ol2{st EZatHo MRE2 / MEEFE OtA 1 / H2 29| 22|ERE

AL8stCt,

Why is that food pattern healthy? / ( ®
Cheret ~of Meix|

that they are eating a_palette of colors.

) One reason is

= revealing
(®) More and more research is surfacing / that shows

= advantages

us the benefits / of the thousands of colorful

A2 3} &

“thtochem/cals (phyto=plant) / that exist in foods.

&7 O B2 977t BEHsE D

ME22 “dstel 2E"(phyto=2412)2| / AZF0 EM3}=.

®
2 lower / what they eat / colors / benefits

X3 xlof ArerEel e Ty 2y

o XI55l X9l AlfS2 0 2 40 &

ZE 91 Q7| wj2o|ct AEo| ExHsHs

23 7FR|9| Ch 2L kst 22 (phyto=
)0l 0jHS HoiFE HH O B 97

7t EHSHE| T ATt

ALt/ O|-E Bo{F= / =8 JHX|Q| .t

ofzff 20N Sl X2 30} x| {IZt
2 MRAIL.

2Why do people in the Mediterranean
live longer and have a higher incidence
of disease? Some people say it’s
because of . Their diet is
full of fresh fruits, fish, vegetables,
whole grains, and nuts. Individuals in
these cultures drink red wine and use
great amounts of olive oil. Why is that
food pattern healthy? One reason is
that they are eating a palette of______.
More and more research is surfacing
that shows us the of the
thousands of colorful “phytochemicals”

(phyto=plant) that exist in foods.
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These healthful, non-nutritive compounds in plants /
provide color and function to the plant / and add to the
health of the human body.

(®) Each color connects to a particular compound /
g st

that serves a specific function in the body.

2zto| M2 S stetET HHEICH BUIM 53 7I5S Bt

rlio
Am
]

(@) For example, / if you don’t eat purple foods, / you
of E A o u

are probably n;lssmg out on anthocyanins, / important

H HS FEgE

brain protection compounds.

02 SO, / Bro} EhAI0] HEt SAIS BiX| Q=CH, / AL otEA|

OfclE ofote =X|1 Ql= ZOoIL}, / SQst & B sigt=¢l.

Likewise, In the same way
(®) Similarly |, if you avoid green-colored foods, /
o = S A5t g x| A
you may be lacking chIorophyII / a plant antioxidant /

damages (X)

that guards your cells from damage.
J2F QAFSHA|, ook &HAMO| sM SAIZ TSCHH, / QEAT BEE £

= QICH / A Ats HIX|H|QI / MIE7F &AE|= S atolFs.
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similarly= likewise, equivalently, in the same way, the
same, identically
= In the same way, avoiding foods with a green color could

cause you a deficiency in chlorophyll, which is a type of plant
antioxidant that protects your cells from harm.

" health / function / Similarly / lacking
10

These healthful, non-nutritive
compounds in plants provide color and
function to the plant and add to the

of the human body. Each
color connects to a particular
compound that serves a specific

in the body. For example, if

you don’t eat purple foods, you are
probably missing out on anthocyanins,
important brain protection
compounds. , if you avoid
green-colored foods, you may be

chlorophyll, a plant
antioxidant that guards your cells from

damage.




512 671 153 QoS5 Day1
202% 62 12 Zo|TIA}
Update 2024. 1. 4.

Over the past several decades, / there have been some

2 A
agreements fo reduce the debt of poor nations, / but

2y 3y remains (X)

other economic challenges (like trade barriers) ® remain.

bl

| 41 A SO, / 7HcHet LIzt o] HRS F017| QI8 2 7k Bol7t

=
QIX|DH / CHE ZA|S THR|(2 Teint 2re) ot QIct

—

30

I REE AN 0|92 HFE 4 9tk 1

= In recent decades, efforts have been made to decrease the

ol e} X1

debt burden of impoverished nations, yet other economic
obstacles, such as trade barriers, persist.

g g A g
Nontarlff trade measures, such as quotas, subsrd/es, and
H g2 oy A=
estr/ctlons on exports, / are increasingly prevalent / and
H ¥ € o
may be enacted for policy reasons / having nothing to

do with trade.

oY, Ex3,

X2 o / FHA 0|92 MEE 4 CH Fojnt LEs

& Metat 22 vl2td| 29 =X7H / JE M 22l o

- have something to do with A:A2} 20| ATt

= discriminative X0l

However, they have a @ discriminatory effect / on

exports from countries / that lack the resources to
EJPS 2 B2 Moo =

complz with re_qurrements / of nontariff measures
g 3 g

imposed by rich nations.

JAS2 AEHQ g 71EICH/ F7tEe 800/ QU2 &
|

8 X0 £55/ 2R/ =710 ofsh fatE

still, nonetheless, nevertheless, yet, however, even so, quite the
contrary, all the same: J2{Lt, J&0|= 245t

Nevertheless, these measures dISQI’OQO%;’tIO;;ateM/]{ impact
exports from resource-constrained countries that struggle to

meet the demands of non-tariff regulations enforced by
wealthy nations.

of2ff 2F0l|lM STl XS ot x| gizt
2 MRAL.2
Over the past several decades, there
have been some agreements to

the debt of poor nations, but
other economic challenges (like trade
barriers) remains. Nontariff trade
measures, such as quotas, subsidies,
and restrictions on exports, are
increasingly and may be
enacted for policy reasons having
something to do with trade. However,
they have a effect on
exports from countries that ______the
resources to comply with requirements

of nontariff measures imposing by rich

nations.

©)

2 reduce / remain / prevalent / nothing / discriminatory / lack / imposed

11
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H E 2 — rich

For example, / the huge subsidies that ® poor nations

eas 9 F
give to their farmers / make |t very dlffylcult / for farmers

e

in the rest of the world to compete with them.
o€ S0, / 71teH (- 2REH Z7HS0] AI=2| sRE0A F= 2oist
_I?l_

HAZ2 /01 A 2HECH & MIA LI X Z27+52] s8E0| 1

fuin

EL 2 o™ A
Another example would be domestic health or safety
7 A H 2 2 SEEANERMTE)

regulations, / which, though not specifically targeting

2 3t 3 cf H g
imports, / could @ impose significant costs on foreign

& 8 &

manufacturers / seeking to conform to the importer’s

market.
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Industries in developing markets / may have more ®
g s o Fotsol  wg

difficulty / absorblng these additional costs.
MAR /I H2 08 HE+

7tHI8S BEsh= .

AT ARO| A QUct/ ofefst %

—

i =Lt ECHE Ol= =

B £ ofd FAQlH, ofH2, #HIA
=

have trouble -ing / have difficulty -ing / have a hard time -ing /
have a problem: ~5t=Cl| 0{24&S FiCt

= Industries in emerging markets may face greater challenges

in absorbing these extra expenses.

Trich /it / difficult / Another / costs / seeking / absorbing
12

ofzf EFolM Sl XS 3o} nx|n HiZk
2 MMLAL.

For example, the huge subsidies that
poor nations give to their farmers make
that very easy for farmers in the rest of
the world to compete with them. The
other example would be domestic
health or safety regulations, which,
though not specifically targeting
imports, could impose significant
______on foreign manufacturers seek
to conform to the importer’s market.
Industries in developing markets may

have more difficulty these

additional costs.




